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EXAM-TYPE QUESTION ANSWERS

QUESTION/VRAAG S
5.1.1 | c0s203°=—-co0s23° v" reduction/herlei
_ v’ answer/antw
=—P
(2)
5.1.2 | sin293°=—-sin67° v' reduction/herlei
= —c0s23° v’ co-ratio/ko-verh
P v’ answ/antw ito/v p
3)
52 sin(360° — x). tan(—x)
cos(180° + x).(sin” A + cos” A)
_ (—sin x)(—tan x) v —sinx
(—cosx)(1) v —tanx
. sin x v —cosx
(—smnx)| — v 1
cos x ..
= sin x
—cosx v - J
o, Ccos x
_ s x
cos’ x
A 2
= —fan" x v, —tan” x
6)
531 2 . 2 )
[ pg = S08” X+ (I+smnx) v' numerator/zreller
(1+sinx).cosx v"denominator/
5 _ ) noemer
_cos”x+ [+2sinx+sin” x v multiplication/
(1+sinx).cosx vermenigvuldiging
141+ 2sinx v'identity/identiteit
~ (1+sinx).cosx -
( _ ) v' fact/faktor
_ 2(I+smx) numerator/zeller
(I1+sinx).cosx
2
cosx -
(5)
=RHS
5.3.2 | Undefined if/ongedefinieerd as:
sinx=-1 or cosx=0 V' 90°
Sox=90°;270° v’ 270°

2)




N

3.1

a =20cos(—30°)
a=10J3 OR/OF 17.32
Q(104/3:-10) OR/OF Q(17.32:-10)

OR/OF

0Q* =400

a® + b2 =400

PQ_? = 22 + 202

PQ2 =404

(a=1>+(b- V"'?)Z =104
a’—2a+1+b> — 2\-"'.;;5 +3 =404
400 —2a + 4 — 24/3b = 404

2a = f2x/§b

a= —\/gb

(—/3b)> + b = 400

4b* =400

b2 =100

hb=-10 (b<0)
a =—+/3(=10)
a=10y3

- Q(104/3:-10)

X +y =1
X+ (3)T =27 subst
xt =1
x ==l
x=1 (since P lies in the 1** quadrant/aangesien P in x=1
die 1% kwadrant /é) (2)
55.2 5y
5.5. . V3 .
sin POT = correct ratio/
. korrekte verh
POT = 60° 60°
POT +a =90°
a =90°-60°
—3Q° answer/antw
3)
553 , b .
sin(—30°) = — correct ratio/
_ 20 korrekte verh
b =20sin(—-30°) b =20sin(-30°)
b=-10 b=-10
cos(—30°) = a o
20 correct ratio/

korrekte verh

v a=103 OR17.32

subst into distance
formula/subst in

afstandformule

subst into distance
formula/subst in

afstandformule
a= —\-"Eb
b=-10

v a=103 OR17.32

(5)




